Axial Flow Gas Turbine

* If the stage is of many in a multi stage turbine, a; and C,;
will probably be equal to a; and C; respectively, so that
same blade shapes can used in successive stages: it is then

some times called "repeating stage"

* The change in axial components (C,,-C,3) produces an axial

thrust on the rotor.

* In gas turbine the net thrust on the turbine rotor will be
partially balanced by the thrust on the compressor rotor and

no large thrust bearing are required.

* The axial component Ca is always designed to be constant
through the rotor. Hence, the gas flow passage must take an
annulus flared to compensate the decrease in density as gas

expands through stage.
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